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BA PART 2 QUESTION PAPER- 2018
SOCIOLOGY

Faper 11 : Social Change and Social Control M. M. : 50

Al v ARt ¥ |y e S s g E |

1. Which of the followin

] g century witnessed rise of Sociology ? WHSYTRS
safra st dgs? 0 ¥ o
(a) 18th Century =ff wrar= (b) 15th Century of v}
(c) 17th Century = vrase} (d) 19th Century o1 yrarea} |

2. Which of the following was first

d to add iolog
——— ﬁa‘ﬂ?l‘q 3 vas | used to address Sociology ? THSTING )
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(a) Social Physics amifer® sl (b) Social Science WMo fagm
(c) Sociology THISTIRA (d) Ethics ifaamex |

3. Who said ‘Ancient of Sociology is too long but it’s history is crips’? .

AT &1 37efta o) 9ga ol ¢, Wy 39 3o dfera ¥ 1 98 wue frer 32
(a) Pareto W& (b) Beerstedi SRS
(c) Arstu (Aristotle) o0& (d) Ginsberg for=geni |
4. Which of the following is not a reason for industrial revolution? fr=y % §

PN sitehfivn wifa o FR0 T8 32
(a) Extending Market 37&ififa S9/R
(b) Increasing factory ¥@dt FR@HI YR '
(c) Inflation Infife 7= (d) Efficient Manpower Tifaeitel 9% wifts

5. Pareto used which two categories in economic area? 3fd® &5 ¥ T2} 3
o & =it 1 Ioora fma 2 :

(a) Lion and Fox ¥ a1 dimfeq] _
(b) Speculators and Rentiers G2t 3iR ffyeg amg o
(¢) Trustworthy and untrustworthy favaraanet sk sifavardt

' (d) None of these 8 ¥ HI3 7T |
6. Who said, ‘Society is changeable and dynamic’? fFE} %81 ¥ ‘g
TH T4t "2 : '
(a) Hereclites eioafey (b) Maclver H&1EaR
(c) Pro. Green Wl T3 (d) Fichter fF=R|

7. According to Auguste Comte, in which situation society naturally passes’
through? AT HFe  STTER, T WIVIfereh w0V o feafirdl A Torar 22

(a) Theolgoical, Spiritual 3MATEF  (b) Metaphysical dfa

(¢) Positivism Y&oTH (d) All of these 3 G} |

8. Which of the following is not a source of Social Change? fr=ifra ¥ @
HH-T1 TF 77 QT a1 w78 &7

(a) Tradition T3 (b) Education f¥ren

(c) Ethic 3fawar (d) Law S|

9. What is the name of the author of the book ‘Culture and Society’ ? 'Sy
QU WIARE (6 & 9G® F 591 TH 22

(a) Bisenze and Bisenze si6+ T atdw |

(b) Marill and Eldridge #fte W& ufegsr :

(¢) Theodorson faaTSaa (d) K. Davis %. 3fag

10. Which thinker has clarified that change in social relations as a social

 change? o0 faane 3 i Tl 4 9% a1 wiads =) gt giad $ 59

(a) Kingslay Davis feaet 2fag (b) Maclver R
(c) A. W. Green T, 3, W1 (d) Morris Ginsberg |G firgant |

11. Whese classified social control as conscious and unconsious control?
g Fra=m @t 97 R oraa g frasm & 9 H fore anifeer fomr 12

(a) Charles Darwin 91ed S1fdq (b) L. Bernard U1, &g

(c) Charles Cooley IR F& - (d) ‘b’ and 31K *¢’ both 21

12. What was the name of thinker who gave the theory of Natural Selection?

mm%ﬁmmmmmmmwm ur1?
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Charles Darwin 91 2ifify
{a;  stington (b) Robert Beerstid 93 #fivte
© gfeme (d) Sorokin §RIfFT |

13. In which book, Sorokin has gj )
3 qrfoT TREd & R g'%‘g‘; theory of Social Change? ®RIf& 3

() Social and Cultural Dynamics Heatel SRS
(b) Theory of Lesiure Class &3t :ﬂ;ﬁ '(3’11;:3 C e
(c) Social Change RG]
(d) Population Problem T{e e Wreer |
14. What demographic factor play an important role in bringi i
I e in bringing social change?
;ﬂ; _ mw?ﬁmmmﬁmmﬁm
(a) Birth Rate 57 X (b) Death Rate g & |
(c) Accommodation Migration - & |
o o those 3 g and Gender rate 3TaE-¥a iR femgam
15. Which Country has most popﬁlalion? aifires SEE i 39 B €2
() Chi‘na?ﬁ’f (b) America 3Tt
(c) India MRd (d) Russia §H |
16. Who is the father of Genetics? SIifdhe®! & Sieh P 87
(a) T. R.Malthus 3. 3IR. Aeaq (b) Max Weber a9 d=
(c) Karl Marx &Tet mad (d) Spenser R
17. Who has given the theory of Cutlural Lag? |itgfae faera i fagr
forad gra fean mar R72 lmp:.f.fvm"\g dbrauonline.corfl
(a) Linton feroen (b) Harskovitz H®Ifagd
(c) Ogburn 3IFTEA (d) Lepier Afqa !
18. Which of the following days is celebrated as Technology day in India?
s B Freiifed 3 A g oo =t WfE fRaw ¥ &9 F w9 s §2
(2) 10 Feb. wadl (b) 15 March 7 & ‘
(c) 21 April 3@ (d) 11 May % |
19. Who said ‘Culture is the man-made part of the environment”? frA e R
fir wiegpfa wataRor & Ara-Ffifa w2 -
(a) B. Tylor &1, 2R (b) Majumdar FHER
(c) W. Green S5, Wi (d) M.J. Herskovits T.3%. eTEhIad |
20. Who is the writer of ‘Principles of Sociology’? *fiiferqer i Wi’

F oGS HH €2
(a) Spenser W (b) Karl Marx Fiel A
(c) Devis efa@ (d) Gisbert fd=¢ |

21. ‘Man makes his own history himself.” Who gave this statement? ' 7=

msﬁ!zmwzim%rﬂzmmﬁﬁm?
(a) Comte HI= (b) Marx TS -
(c) Spencer T (d) None of these ¥19 ekl
22. When did Industrialization start in India? Rd H it &1 Iy Fd

get?
(a) After the 17th Century 1747 yraTe) & W%

(b) After the 18th Century 18T YT & @I
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(c) After the 19th Century 1937 ¥IdI&t & A%

(d) After the 20th Century 20T Y= & 9% |
23. According to Marx, the main reason for social change is in the following ?

A % AR Previtea § & g wReda 1 g FRO 2 -

(a) Class-Conflict a7i-Hed (b) Mass-Production St A & Ieqre

(¢) Economic Revolution 374 sif (d) Change in Ideas fa=my # aftad |

24. What is the meaning of Urbanization ? TRIEUT &1 71 A1 ¥ ?

(a) By the development of Cities TR & faahre @

(b) The distintegration of the Cities T & faweT q _

(c) Both B ‘a’ and 3R ‘b’ ik (d) None of these ¥4 & =g & |

25. Who said, ‘Society is a network of Social relations’ ? TR g1, i Taw
QrTfoTeh gl & S ¥ 2

(a) Maclver LCOEC T . (b) Parsons 9E~

(c) Durkheim g&H (d) Merton 5 |

26. What is the method of measuring Urbanization ? TRIS<U &I A9 &
ymwnt?

(a) Population SFE&AT (b) Density ¥

(c) Industrialisation 3N~ (d) All of the above T8 q Tt |

27. Who has written the book named, ‘Social Change in Mdoern India’ ?
"He w §7 sted sfren’ g e fed ?

(3) M. N. Sriniwas T8. @. #if/a®  (b) S. C. Dube 9. &t ga _

(c) M. §. Gore TH. TH. TR (d) Yogendra Singh aFI=; fde |

28. Which scholar is called, ‘The creator of m ia’ ?

T 1 Pt e odern India’ ? f%9 fagH #1

(a) Raja Ram Mohan Roy <1 T Wg 19

(b) Iswarchandra Vidhya Sagar $¥8R 9% farerarR

(c) Dayanand Saraswati SaM=< S&d!

(d) None of these T8 ¥ #I1$ 787 |
29. What is Sanskritization ? H&hfaeto 1 § ?
(a) Change 9Rads (b) Influence I3

(c) Social Process WIS fsFa1  (d) Life style SiaT deft |

30. Who has given the theory of Technological Determinism ? Sreiifits
‘Fryfvoras &1 fagr' frem fan 2

(a) Spencer TR () Veblen aafem

(c) A. W. Green U, =g, Ui (d) Dawson T8 |

31. In which country the first industrialization occur ? it w5 'H'GT'H’!FT
g fore Qw9 gam ?

(a) India WRA (b) England $eivs

(c) France %id (d) Germany S/t |

32. Which concept is applied on social life by Brown ? 9139 3 T YR
& WIS St @ o foran 2 |

(2) Morphulogy 3T&fa famm (b) Physiology YRR fiFar fargm
(c) Evolution Igfasrg (d) All of these 377 | |t |
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33. Combination is not a perfect match : I %1 et iyt 7T 2—
(a) Swami Dayanand-Arya Samaj @it Tam=z-a1md o
(b) Lord William Bentic-Accurate conflict @¢ faferas Sfr-wdt Ry
(c) Chittaranjan Das-Brahma Samaj faeier <-sm gamt
(d) Ani Besent-Theosophical Society Tt 38v2-feriraiftrne GraEd |
34. Who is the author of ‘Caste in India’ *?
o b o gﬁgm"a;@aqgl;ﬂ:a%s;d on Caste s.ystcm ? ifer S
(a) Rajni Kothari ! H18RY (b) B.R. Ambedkar <it.31R. SPaga

(c) Sri Niwas #t famm (d) None of the above 38 ¥ %IE &1 |
35. Which of the following is the most influential agency of formal social

control in Modemn Societies? Y& a9 ¥ iy=ifis wmfas frg=or #1 9a@

yyTaeet AR ST 2
(a) Club Fer& (b) Family 9R@R’
(c) Religion v (d) State T59 | .

36. In which of the following books Samnar has given the idea of Social
%n%o;?wﬁﬁwmﬂ%mwﬁwmwmwm

(a) Social Control €Y/ HR‘IH - (b) Human Society §[F7 |I41get

(c) Principles of Sociology fifaua 3w Hifyriersit

(d) Falkways FI&Has | N

37. According to Durkheim, Collective life is important than Personal life :
TE ¥ IER qifew staq dafes e @ M e #1398 Fr—

(a) True €4 (b) False 39

(c) Partly false 37if¥1% ¥4 & 378&  (d) Controversial faaRyel |

38. “The family has a group that is defined by sexual relations and is so small
and stable that through which it can be arranged for the birth and upbringing of the
child”. Who said? *‘9faR 9% @z ¥ S 49 gl gra wfonfya g € qen gan
B2 iR st ® 6 3w g g=aH & 5 iR T~ St Saen Ft S g9H 1
Tg foren w1 @2 :

(a) Barges and Locke S @4 @lleh

(b) Maclver and Page Aeprgat ag1 491

(c) Ogburn and Nimkoff HrTsI a1 fyai®

(d) Kingsley Devis féraet faa|

39, When we see the family as a group, than what do we say it? 19 ¥5 IR@R
& TP TE F T A @ ¥, O I T Fed §?

(a) An Institution T& E&1 (b) A Committee T Gftfa

(c) A Community T §ISHE (d) A Society T THN |

40. What is not right about single or joint family in the followings? Tshel 4T
¥z IfER & an A freifea § @ T @@ 7w 82

(a) Dominance of one old male member T& F& TEN Tt FUTTaA

(b) Same Couple T & gfd (c) Two generation 3 & WifedT .

(d) Husband-wife and their children Tfd-Teit qe1 37 7= |

41. Which is the most povrerful mean of promotion in present era of economic
competition? 3T Wfireag! & adaH g1 YR 1 waifys were wem fra 3 ¥
T R?
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(a) News Paper @HEIR 93 (b) Movies Jafda=
(¢) Speech Platform TN # (d) Television e |
4. Which one state is backward in literacy in India ? |TeR@ %1 3fE | W =

- T g T aF-a ¢ ?

() Uttar Pradesh I ¥ (b) West Bengal af¥=s e

(c) Bihar faeR - (d) Orissa 38T | -

43. What did Aristotle considered State ? ST | T=F &Y &1 W1 € ?

(a) Village Community Tl 1§93

(b) Family Community 9RERT 1 ¥%™

(¢) Community of families and village TRERT 741 U T VI

(d) All these A T3 | L v
 44. What is the most effective means of Public Opinion in present age ? LRI
7 F s Frefor St gad gvEve R RR R 2 ' '

(a) Press T4 : (b) Rituals dfl

(c) Radio Xfedt (d) Computer F9 |

%q}s. The word Pogredier is from which language ? ‘Progredier’ Y= foh& W

HlE ¢

(a) Greek W% (b) French %9 (c) English 3R (d) Latin @& 1

46. What is the meaning of the ‘Opinion’ from the following : Frifa 7 @
S Al fRa g R ?

(a) With majority Sgqd q (b) From average opinion Aaa g/

(c) From public opinion <17 ] ’

(d) By public decision St & Fofa R

47. What is the name of the scheme introduced by the government for the
universalization of education, in India from 2000 ? ¥ 2000 ¥ TR BRI WRd 7
fore <51 QIEVIIORTO Y ¥ T S Arer IO S T, ST A & 2

(a) Education Planning for all @it % fera firen dsrn

(b) Education for all 94 fiven @M

(c) Universal Primary education programme avitfie wafirs fren sy

(d) Compulsory education programme ﬂﬁﬂﬁ e wrbHA

48. What is called, the branch of knowledge that delas with education and

" relations with society ? fan 3R Tu & Wl # fad=T FQ A I B A

) 1 el e € ?

(a) Sociology of Education f¥T& %1 SHerIes

(b) Educational Psychology Reforr wIfaaE

(c) Social Educatidn |rifsie f1eim (d) Adult Education g fori

49. In the beginning of twentieth century which institution did apricable work
for the development and extension of education in India ? Srgdl At F gow |
firg e 3 a3 T ¥ faera 3R waR ¥ fa weida wr R ?

(a) Arya Samaj 3T §HI (b) Ram Krishna Mission TH&® firem

(c) Prathna Samaj wredeT WS (d) Bharat Sevak Sangh YRd Ygs 991,

50. Which of the following is called founder aspect of the State ? friifra @
il Tog % TTUIYSF T8 HE a1 € ? ; ,

(a) Fixed Land fAfe=a - (b) Governance machinery IHT-0=A

(c) Government TTHR (d) Popuation SFHEAT|

wod dUI[uUoONBIqP MmMm//:d1y



wod duljuoneigp mmm//:dny

51, Which of the following helps in maintaining tradition and rituals in a

2 gart 3 WISl 1 SRTaR] Y gg F F wH fhu €2

society

(a) Of Religion ¥ &1 (b) Of Government H(FR I

(c) Of Society ISl (d) Of Ethics e 11

§2. Which of the following is a major element of all religion? freifea & 4
Fradt il F1 G 7HE o ,

(a) Belicf in Formless Power FRI&R e ¥ favam

(b) Intermarriage Hfdar

(c) Symbolism and Ritualism Wleh ag1 FHEF0S

(d) Magic Action <T1g§ fFamd |

53, What is the basis of the structure of differcnt religion in the following?
fafvr=r wt @t W= o SR FrifeRa F @ w0 2

(a) Social Policy Tmifse ifd (b) Customs WY

(c) Believes favam® (d) Personal Experience 3aft6d 3134 |

54, ‘Religion is Opium for the Public’ who said it? ' wd i % frg e &'
T% foren T2

(a) Karl Marx el A1 (b) Max Weber 3 e
(c) Majumdar and Madan HS[HSR G81 S
(d) Kingsley Devis fraa 3fag

§5. Which of the following is essential for Social Progress? Frtifa # q

. P-4 & < amitae yfa % fag e €2

(a) Decrease in Population Sa@En %4t

(b) Reservation of Minorities ST &1 &

(c) Social Welfare Services AT el Hard

(d) Increase in Urbanization FRi&w & 9§ |

56. Who said, Education consists in aquiring the meaning of the cultural
heritage and life? fFE &1 ¥, Tichfas favaa wd sfea & g =1 ya F0 €@
faan ®?  hutp://www.dbrauonline.com

(a) Bottomore M (b) Mahatma Gandhi WeTe Tkt

(¢) Gillin & Gillin fifem st fiféq  (d) Bogardus shmEs 1

57. When was Special Marriage Act passed? fadie faar sfufan wa wfa
[SUEANE '
(a) 1954 (b) 1955 (c) 1956 (d) 1856.

58. Who has admitted the education as a part of the process of Social
Stratification? foran foren ) wrfsres T 1 wikar &1 sin 71 82

(a) Majumdar and Madan SS[FER T HTH

(b) C. B. Young H. =1 47 (c) Goode and Hot T2 Td &2

(d) Devish and More 3fad 3 T
N 59. Marriage is recognized among Muslims as : THEHT § fyae St W= S

(a) Social agrecment THITSTH FHFA (bj Law relation R WY

(c) Religious custom ¥TH= TR (d) All of these 3 |sit 1

60. Who has given the definition ‘Religion is the belief in spiritual beings'?

‘v anenfere wfw A favar € 98 wia fead @2
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(a) Burgess and Locke %t 3l @fF (b) Anderson TU=REA

. Johnson TH, Wi={A |
(c) F. B. Taylor T®. #1. 2R (d)H. Jo )
61. Which Latin word led to the coining of word ‘family’? %fireh w1t &
I A v F fem v | g R? ~
(a) Familie (b) Famili (c) Famulus (d) Familier.

62. Which process helps in changing from organic being into social being?

i whwar ¥ wrew { Mo wioft anafis woft <3 872
(a) Urbanization &0l (b) Sociological FHT L.
" (¢) Modernization 3Tyl .(d) None of the above 379 | #1§ ¢TI
63. What kind of social control method is publication? =R dmfs frg=qoy
F1 a1 A ¥?
(a) Formal 3qeifis (b) Unformal 3WIq=nits
() (a) & 3K (b) both 2T (d) None of the above T8 | 1§ &7 |
64. What does Durkheim calls an individual behaviour which is influenced by
pressure? AT, W A F HRU 9 ZER A Fa1 ¢, @R R A aga 2
(a) Social Good |m™Ife feq (b) Objective T
(c) Social Elements §MIfS® @ (d) None of the above 378 ® %1% 78T |
65. According to Ross which among the following plays an important role in

Social control? TH WIS frrarmror 3 ferrent siftvert weearqe 7 &2 |
(a) Trust f& varaf = (b) Laws Sl &t
(c) ‘a’ & AR ‘b’ both ¥ (d) None of the above 3% | =1é 77|

__66. Social control is divided in which two parts by Kimbaal Young? famara
9 3wt = ) i @y st 22 -

() Direct and Indirect Ye381 § 319
(b) Conscious and Unconscious =09 & 37a
(c) Organised and Unorganised Hnif3q 9 sramfaq
(d) Positive and Negaitve THRIHH q THRAHF |
67. Who supported females in their socio-economic progress? gl =t
wrifTR- S feufi Y 3= w0 F frgd T fean
(a) Westernization f=sita (b) Secularization SfsraTaToy
- (c) Caste mobility WIia 7fefiem i (d) All of the above 37 Tt 3|
68. To study social change and transformation which method of study was

suggested by Dr. Yogendra Singh? e, 9t fifg ¥ wiw ¥ T i
TRV & a7 F e fve 3umm =1 g fear? «

(a) Cultural Approach Withfas Iqmmm

(b) Evolutionary Approach 3fa&&g 3qnm

(c) Integrated Approach T&HIFd I9TH

(d) Strucutral Approach (=TS IINTT |

69. What is percentage of education in India according to 2011 census? 2011

T FFIVA & ATAR RS A FIRRa F1 Wi R £2

(a) 74-04 (b) 68-04 (c) 72:02 (d) 70-04.

70. Who said. ‘In India tradition and modemization go hand in hand’? * yg &
TR 9 YRl W9-1Y 99 W@ R 1" 9 R e

() Dr. Yogesh Atal ST, 4iiR1 3% (b) Dr. S.C. Dubey . Tq.4. g

(c) Dr. Desai €. 2418 (d) None of the above 375 @ &) qET)
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71. Who wrote ‘Caste, Class & Power’ ? '#1&, swrq s TR’ [&F F

éﬁq:a) pr. S. C. Dubey S WHGE Andrey Bitai 37 famrg
() Yogesh Atal 991 3T " (d) None of the above 39 & I =& |

72, Under which law/act untouchability was declared as crime ? @ FEF

(o) 1955. Untouchability Act 1955 % srergeaan framcor sifisfram
(b) Intercaste Act, 1956 H=rerarg fufrm
(c) POTA Act W1 T
(d) None of the above ¥4 @ ¥ €T 1
73. What are called the various forms of interactions ? 3/:fFa & fafirs
<l ) T FHE @R ?
(a) Communication H=R (b) Sensibility g v
(c) Social Processes | Wfshd  (d) None of these 378 | 1§ &7 |
74. Moving forward of material culture and slower rate of moving of non-
material culture is called what ? ¥t d&sfa =1 aml 5 9F 9 envitfas 1 118 w®
AT, 41 HEgaal ¢ 2 :
(a) Cultural Lag §ipfas fae==  (b) Social Change @TIfoe Rad=
(c) Cultural Dynamic |ihfaw nfasiiera
(d) None of these ¥ | %15 Tl |
75. Who has given the theory of circulation of Elites ? 3ifsma a7 & wftymor
w1 fagra feem fn @ 2
(a) Amold J. Toynbee 37fes . Zg=at
(b) Oswald Spengler 3&aTTS TIER
(c) Wilfrado Pareto fae®hal ®&Y  (d) Sorokin HIOfFA |

76. To maintain organization and arrangement in society, regulation of
Individual Behaviour is called ? THIS H W34 9 goawdl - W@ & A 991 87T
= ¥ Farl F A R Feam e ¢

(a) Social System GHIFI® 7a€4l  (b) Social Control TS Fra=0

(c) Social Change |mIfsi® R@dT  (d) None of these 79 | %1% &l |

77. Which of the following is not a characteristic of family ? /=1 & & =\9-4i
fordraran uRam® 1 7T & ? ' .

(a) Creative effect T9TcHS FHIF (b) Emotional base HITAHE: AR

(c) Social law 9mIfsT fam (d) Big in shape 3Tefifia SR |

78. Which of the following is not a formal by way of social control ? =1 # &/
e Fra=am 1 Sia=fie aieA HHE-91 78 € 2 _

(a) Religion ¥ (b) Educational Institute f¥reyor deemd

(c) State TG (d) Law SF[A |
79. Who said “Punishment is like a social dispraise and it is not important that

one will have physical pain as well” ? ''T0€ T THR ! e <1 8 i 7%
Savaw el ¢ fo 3gd Wi F= A A1 38 Fu e } 2

(a) Ross U9 (b) Sethna @Y (c) Cooley F&  (d) Samnar T |

80. Which of the following is not characteristic of public opinion ? f= & &IH
o <t fadraar Tt ® ?
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(a) Public opinion is related to universal subjects S T T=-Y FreAfH
famagmd

(b) Public opinion is brain child of one individual 94 f&dt & = ¥ w7
1 3US gt ®

(c) Public opinion is not stable SFHd HY§ feert wron 7ef &

(d) None of the above T4 @ & &1 |

81. Which among the fo%lowing is characteristic of Modemnization? w7 % @
STYFTRITO T HH-T1 T &2

(a) Industrialization 3fzviiaTor (b) Urbanization RIS

(c) Progressing Science fa@m &1 wifa ‘

(d) None of the above 3 ¥ I T |

82. Which of the law is not related to secularization? R ¥ gafyq
HH-TT F €1 872 '

(a) Special Marriage Act fa9iw faam stfufirmm 1954

(b) POTA Act Wier atfufiram 2002

(¢) Untouchability Act 3regvgar aifufam 1955

(d) Bengal Sati Act s7el |t 33fufray 1829,

83. Brahm Samaj was established by? 7=l ¥5 F1 TG fFa® g1 [

(a) Keshav Chandra Sen ¥ %% 7

(b) Ravindra nath Thakur T 19 IER
(¢) Raja Ram Mohan Roy TSI U9 HIgH 1™
(d) Devendra Nath Thakur %% 19 31$ |

84. Which of the following is not a reason for Secularization? =1 3
1 H-T1 TR B2

(a) Indo-Pak Kargil War YIRa- &RfiTd Ig

(b) Urbanization F{iahur (c) Western Culture Y= H&hfd

(d) Modern Education 31yfres firem

85. In which year Ram Krishna Mission established? Imgrer fg % re
frq od § g2

(a) 1809 (b) 1899 (c) 1890 (d) 1880.

86. Who named dominant caste as ideal of culture among the following? ¥y

ST Y Hepfanw % e F w0 A e fagr 3 v @ 22

(a) S.C. Dubey TH. 61 g& (b) Kuppu Swami $9 @t

(¢) Sri Niwas &t fam (d) None of these 39 | =¥ &t

87. Who said, ‘Caste is closed class’? ‘Wfa @& o< a7 ' 97 wum feg=s
2?2

(a) Karl Marx et Ared (b) Majumdar & Madam TS[9ER & WA

(¢c) Satherland Geteive (d) Durkheim g@&TH |

88. Who said, “till date history of all society, is the result of class conflict”?

" 9 F /vt waell 1 s, o W @ sfier €, 9w g 22
(a) Karl Marx s1ef o (b) Pareto G2}
(c) Kozer IR (d) Sorokin WRIfF |

89. Who among the following is the founder of cyclical theory of social

change? 1 & § wmifsres wRted & g fagm & vads =1 2w T 82

wod dUI[uUoONBIqP MmMm//:d1y
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(a) Spencer TR (b) Karl Marx T e
(c) Parsons TRE~N (d) Pareto T2 |

90. What is moving of people from one country to another is called 7 f&elt ZW
¥ wnil 1 37 X SN F T Fwd ¥ 2

(a) Immigration ST (b) Emigration SIRTOTH

(c) Migration ¥ (d) None of the above 3T | I &1 |
91. Which of the following state the correct meaning of development ? 7

Fol ¥ Hi-91 FU fohr F w1t o Y s & 2
(a) Development is a sudden change 9 TS vfady 2

(b) Development in a good way is only called change =3t % fere sftad =t
foE FEa §

(c) Development in a desired direction is called change 3Tifard fewn ¥ Fritfm
qftedA ) e Fe §

(d) None of the above 378 ¥ FTE st |

92. When change occurs only in one direction what i ?
e T €1 T A 0 e &, 1 9 S o e R clled ?

(a) Physical change siffas gfiads ‘

(b) Evolutionary change Igf&sheta aftads

(c) Progressive change WiiTashe qfigdq

(d) Cultural change Qe aftadT |

93. Which of the following was main reason of sociological change according

to Karl Marx ? el Wierd & wrifsien wftard &1 @ R0 fopdl siaran & 2

(a) Mechanical usage 3= ¥4 (b) Religious reason Hfd® Hww

(c) Political reason Tﬁl’ﬂﬁlﬁ SR (d) Economical reason 3N Ry |

94. Which theory’s original purpose is to resist violence by punish-ment ? f8
fagT= % 3TER UL &l IR IexF ATY H WY FE 2 2

(a) Retributive theory ¥fosRras fagrs

(b) Deterrent theory Wfarureqss fagr

(c) Reformative theory YuRTeas fagr

(d) None of these 398 ¥ &13 =81 |

95. Who said “Increase in population is in exponentially where as production
increases ? linearlly, ‘SF&Em § gfg T@mvrdta su o €1t €, Safs I §
gfg ftrdta s #' g wuA fraa ® 2

(a) Thomas 4THg (b) Darvin SIfdR

(c) Malthus AT (d) Devis sfag1 .

96. Industrialization is most important for which category of nations ?

Sttt forg guit & <9 & fore wed sifves s B R 2

(a) Developing Nation fasrasfia RUERGLY

(b) Developed Nation fa@fa < & fag

(c) Backward Nation f4&2 331l & g

(d) Agrarian Nation Hf¥ 3u <9 & faw

97. In the state of modernization, which of the following values are reduced
from society ? TYFTRIHTT Gt e H TAS F ffA Heddl = UE FW TR @ € 2

(a) Scientific a1 (b) Transcendental TR

(¢) Family iftEiits (d) Logical afdha |
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98. Struggle is an active process, however competition is : HWY Y& ¥ Wiy

¢, wafr whremet ?
(a) Individual process Afw wimar ¢

(b) Conscious process T A uFEa d
(¢) Violence is used in this

(d)Allofmcabove'a'H‘ﬂ! ‘ _ _
99, Which of the following 1s a group of writers belonging to a German

propagandist ) Fr F @ ST F BHA-T WE 9T YARAR §HeE & gEtuw d 2
(a) Boas, Wisler, Mekenjic #13T8, Rraer, =it
(b) Parsons, Wisler, Schmidt W&, fareer, furfire
(c) Shimidt, Grabner, Fay fiftre, 79T, w4
(d) Grabner, Boas, Redcliff Brown ¥&R, M3, TRRTe #1571 .
00. When two groups share cu'tural clements what is this process called °
ﬂ%#mﬁﬁgmammmmm-mm& o 9%
whean 1 wgandt § 7
(a) Cultural circulation |ihfa® WER
(b) Cultural Idcology VitHfe fo=mara

(c) Cultral mix WiHfaw a0
(d) None of the above ¥¥ ¥ ®I{ 7T |
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